Test Booklet Code JMD No. 7538944

ZZ Thiz Test Booklet contains 20 pages.
Do not open this Test Booklet until you are asked to do so.

Important Instructions :

1. The Answer Bheet is inside this Test Booklet, When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars on S8lde-1 and Bide-2 carefully with
blue /black ballpoint pen only.

2. The test is of 3 hours duration and Test Booklet contains 180 questions. Each question carrics
4 marks. For each correct response, the candidate will get 4 marks. For each incorrect response,
one mark will be deducted from the iotal score, The maximum marks are 720,

3. Use Blue/Black Ballpoint Pen only for writing particulars on this page /marking responses.

4, Rough work is to be done on the space provided for this purpose in the Test Booklet only,

5. On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator

before leaving the Room/Hall. The candidoles are allowed to fake moay Test Booklet only wiith
therm, '

6. The CODE for this Test Booklet is ZZ. Make sure that the CODE printed on Side-2 of the
Answer Sheet is the same as that on this Test Booklet, In case of discrepancy, the candidate
should immediately report the matter to the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

7. The candidate should ensure that the Answer Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in w

the Test Booklet/Answer Sheet,
B. Use of white fluid for correction is mot permissible on the Answer Sheet,
9. Each candidate must show on demand hisfher Admit Card to the Invigilator. :

10. No candidate, without special permission of the Superintendent or Invigilator, would leave
hiz/her seat,

11. The candidates should not leave the Examination Hall without handing over their Answer Sheest
io the Invigilator on duty and sign the Attendance Sheet twice, Cases where a candidate has
not signed the Attendance Sheet second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfalr means sase.

12, Usz of Electronic/Manual Caleulator is prohibited.

13. The candidates are governed by all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall-All cases of unfair means will be dealt with as per Rules and
Regulations of the Board,

14. No part of the Test Booklet and Answer Sheet shall be detached under any circumstances.

15. The candidates will write the correct Test Booklet Code as given in the Test Bookiet/Answer
Sheet in the Attendance Sheet,

Name of the ﬂa.udiiltl; fin Capitals) : ACHVUMAHA  LHATT
Roll Number (in Figures) : g:’f 2 ':--"TEI E.E" =
fin Warda) :ﬁgh.l e Atpeindny MU kBl Wals  cigbu
) v o
 KEMPRINA VIDYALAYA , AT ENFEMA _penefpon

Signature ;

Centre of Examination (in Capi

Candidate's Signature :

Facaimile Signalure Stamp of p——
Centre Superintendent :

E4







-
1 |..::

' 1‘: \—-’F—r— - 4 oot L

= A[ ZME2) woyt

1. .H.!phl:rl: of mas rﬁa.m:l ius & s
rotaTng about ils diameter. .@:}y’iirﬁer
of the same mass and same us ig also
rotating about its geometrical axis with an
angular speed twice that of ithe sphere. The
ratio of their kinetic energies of rotalion

|E hire -‘IEl:-jﬂmu:r]'wﬂl

1o vl 24
@) 1:4 - ] -
[3) 3:1 = J_—'—f
o B L 2 s

% A light rod of length | has two masses my and
m, attached to its two ends. The moment

of inertla of the system aboul an axisf

. ] ko L7 e
j}. _l_g.-n;z ) ,ﬂji 1:
Jep = Lo’
5 TLAL% [ }E’ }
B, A rectangular Glm of bgud is extended

from [4 cmx 2cm) to (5 cm % & em). I the
work done is 3x1071 J, the value of the
surface tension of the hguid 15

(1} 0125 Nm™!  [2) 02 Nm™
{3) B0 Nm™' ) 0250 Nm]

@, Three Uguids of densities p;, p, and py (witk

.~ pyrpgzr eyl having the same value o

surface tension T, rise to the same heighi

in three identical capillaries. The angles o
contact By, 8, and B, nbcly hj"? e

R
{1} 08, <8, -:lcl'a-cﬁ 1-._.--ij
I

perpendicular to the md and passing 2 L N s e E:E}.ETJ- = V@
through the centre of mass is = M{é}?* a2 1 b | 3 _,_-_.E-_i
i1 MF i2) ‘”tr’mj]i? (3] m=fy =8, =8 u D
i b 12527537 5 O E
3) Jmymg 12 (4) %:? (4] %:- B, > 8, >80y 20 W33 L8,
1 4

B B3c@ 0

3. Starting from the centre of the earth having
radius F, the varation of g [acceleration dus
to gravity] 18 shown by

e
M) “i i: (2)
o —
+ 1

: o F = o R —r
satellite of mass m is orbiting the earth
fof radius B at a height h from its surface.
The total energy of the satellite in terms of

gy, the value of acceleration due to gravity at
the earth’s surface, is Tf - kftFE

(. identical bodies are of a materia
or which the heat capacity increases witl
temperature. One of these is at 100 "C, whil
the other one is at 0 °C. If the two bodies an
brought into contact, then, assuming n
heat loss, the final common temperature i
{1} more than 50°C
{2) less than 50 °C but greater than 0 °C
3 o-C
[4 50°*C

B. A body cools from a temperature 3T to 2
in 10 minutes. The room temperature is
Assume that MNewton's law of cooling i
applicable. The temperature of the body 2

‘)'L:je(zhl:ﬁ of next 10 minutes will ke

3 4. 0=+ &
S g e e-Alee
2 Nzt 3 |-~

P
T,0= SR+ ¢

2 3T (4] =
G{‘Sﬁ"ﬂ. L &1 2e+& 040 T F 4
4 E e . g. One maole :5? an ideal monatomic ge
Fe = v (2) 2mgp K I':f E | undergoes a process descrl th
&= R+h ¢ p{:_ equation PV” = constant. The heat capacit
4 9 R TE = = of the gas during this process is
o P -T - m3r 3E—Emar o= YR
F=" = s —G Mo 30 & R ?:
W SBE J[ReHr) | - R 2@ LW ir Qb -gx
P : 2[R+ h ‘ :
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The ti:-m'pr.m“lt'l! inside a refrigerafor is 15°C
gnd the room temperature is t°C. The
amount of heat delivered to the room for
each joule of electrical energy consumed

<

ideally will be
o +27T3
1) — (2)
li_t'.i
4
® 373 (4]

11. A given sample of an ideal gas occupies
a volume V at a pressure P and absolute
temperature T.. The mass of each molecule
of the gas ig'm) Which of the following give

T=W -

. ;;F = sl
] |2 Xy~ dwnt

16. A parallel-plate capacitor of area A plate
separation d and capacitance Cis filled with
four diclectric materials having dielectric
constants k;, ky, kK, and kg, as shown in the
figure below. If a single dislectric material is
to be used te have the same capacitance Cin
thla mpan:tnr then its dieleciric constant k

-3 Lﬂtﬂ“

| T
di2

the density &7 the gas? -C'l o
| Pm/(KT)  (2) P/(KTV) T r
{3 mkT (4) P/IKT) A b {1) ;.;.31;;1 s kg +kq)+ 2k,
12, A body of mass m is attached to lhn"if\*‘[ 4 1.1_}
lower end of a spring whose upper cnd ) 2. 3 23 —3
jm fixed. The sprng has negligible mass. k ky+ky+ky Ky
When the mass m is slightly pulled down z
and released, it oscillates with a time period TR L e e B 6 (bt J
of 35. When the mass m is increased k 'k k3 k3 2k,
by 1kg the time period of oscillations P 0= m-l_—,f;t__}__
= I

becomes 5 8. The value o mhk,g'}:
e ] 1 =
i} 3 12} —ELQ af

A
3 *Fa-'-{:,;i};-rf%

&J The potential difference |V, - V) between

}_'?,_ svmtpurnludnndﬂmﬂwglwnﬁgur:m
16 ol 3V 1a W
13. The second overtone of an open organ A : *‘_|-__.-|||.-.|.|-.|,|,|,._...£I o/
pipe has the same frequency as the first -“-,-:_ [=24 ) a
overione of a closed pipe [ metre long. The — : %—Fﬂ‘“"
le of the open wﬂ]bl: 1] +3 ¥ 2 +6 v
[1:‘5:; g:x— ) v Ea o v 14: g W=t
2 qu \/ o
../{{}415- (4) L aI'J: 18. A filament bulb (SO0 W, 100 V) iz to be used
Three sound waves of egu in & 230 V main supply. When a resistance B

have frequencies (n-1), n, [n+ 1}. Thr_v,-

superimpose to give beats. The number of

beats produced per second will be

(1) 4 23 v - fo

(3) 2 4 1 s = Yite
15. An electric dipole is placed at an angl®of 30°

with an electric field intensity 2 = 10% N/C, It

experiences a torque equal to 4 Nm. The
charge on the dipole, if the dipole length is

ia connected in series, it works perfectly and

the bulb consumes 500 W. The value of R is
e

{1} 46 (& 26 £

3 138 (4) 2308 &2

19. A long wire carrying a steady current is bent
ints & circular loop of one turn, The magnetic
field at the centre of the loop is B [t is then
bent into a circular coil of o tums. The

2em, i DO = l'f,l"-"p{:. X2 Rin? magmetic E;!l:blc gt the centre of this coll o
2 me i 5 n Ems w 2 e

i2) 5 mC = Bys e 2) :;.E-——L

3 T HC = ZDEIEY = 207 —— s L»?ﬂ;y""l
e |-4:|Emﬂ‘ﬁ | — M 'h—{"—'h"'l-'-[r “: ! ok B B o
ez [ﬁ ] — j'r
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20, A bar magnet 15 hung by a thin cotton thread
in a wuniform horizontal magnetic field and

ia in equilibrium state. The energy required
to rotate it by 60° ia W. Mow the torgque
required to keep the magnet in this new
position is PNE — 20D
W
D) 3w @ 2X
w
J3
An electron is moving in @ circular
path under the influence of a ransversoc
magnetic field of 357 x 102 T. If the value
of e fmis 1476 x 10! C/kg, the frequency of
lutiom of the electron is
| 100 MHz |2) 628 MHz
{3) 628 MHz (4} 1 OH=z
Which of the following combinations should

he selected for better tuning of an L-C-R
circuit used for communication?

(1) R=250 L=25H, C=45F
(2) R=15Q L=35 H, C=30yF
3] R=250, L=15 H, C=45F
|4) R=200 L=15H, C=35F
A uniform magnetic field is restricted within
a region of radius r. The mﬂmzti:: field

@) *1,—‘; )

21.

changes with time at a raie % Loop 1 of

radius K = r encloses the region r and loap 2
of radius R is outside the region of magnetic
ficld as shown in the figure below, Then the
e.m.f gencrated is

(2 —f'd?ﬂﬁimhnplandmmmunpz

(2] _%nf: in loop 1 and zero in loop 2

}ﬂ/ﬂmhlnnplunduﬂ}iﬂtﬂupi

s L=
F= MESWE Mr'?f:

= Mﬂ%
O = J‘!'UJ'-.F-';'{ -Hfé'—w,jr-}
24, The potential differences across  Lhe

i unqssapur_i pnd inductance ars
EH]E. 40V and ,i%‘llﬁ respectively in an
L-C-R circuit. The power factor of this
clrcuit is
(1) O5 ,tef" 08
3) 1o {4) 04

f;;}' A 100 @ resistance and a capacitor of 1000
\o7 reactance are connected in series ACTOES
a 220 V source, WHen the capacitor is 50%
charged, the peak value of the displacement

earrent is LI=Inla
(1) 11 A 2] 44 A - ?”ﬁru_*ﬂhré
3) 1WZ A {4 22 A 2z

= 2x1s”

STwe identical glass [jg=3/2) equiconvex
lenses of focal length [ each are kept in
contact. The space between the two lenses is
filled with water (e =4 [ 3] The focal length

af the combination is = }h|‘é.t¢.:
(1 f 2) 4f/3 - ?E‘.P'—"“
{3) 3r/4 i fr3 —

1 g6y X 21gFRI0

An air bubble in a glass slab with refractive
index 1-5 [near normal incidence) is 5
deep when viewed from one gurface and
3 em deep when viewed from the opposite
face, The thickness (in cm] of the slab is

1] 10 (2) 12
[3) 16 |4 8
The interference pattern is abtained with, tao

coherent light sources of intensity ratio n
In the interference pattern, the ratic

Imux = Tmin
rnu:-: +Imll1 .12'1[?;
2/n N
n+l E;:" A ﬂ;f:g
@ 8 1<
i+ 1)* 6, 'Elﬁln-j
@ 2 aegro Y
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29, A person can sce clearly objects only when
they lie between 50 cm and 400 cm from his
eves. In order to Increase the mAKITLT

distance of distinct vision to infinity, the type

and power of the correcting lerfs, the person
has to use, will be ¥ | .
dﬂ{“funcavc. =25 dioptar T'!':-/lg'

(2} concave, -0-2 diopter l";}

(3) conves, +0-15 diopter =

conver—¢2-25 diopter

4

30. A linear aperture whose width is 0-02 cm is
placed immediately in front of a lens of focal
length 60 cm. The aperture is illuminated

= —L} i (e £ \J@c}‘.l_ Um Ui ﬁf:r"fﬂ"f?f_wﬂ

=\etm+t @t = | () A
33. If an electron in & hydrogen alom jumps
from the 3rd orhit to the 2nd orbit, it emits
a photon of wavelength A When it jumps
from the 4th orbit to the 3rd orbit, the
corresponding  wavelength. of the photon

will be
m 2a e
16
20 16 %% "E-—j
), 4 = Sa——
i3] 13 [+) 253. I|I

The half-life of a radicactive substance ia
30 minutca. The time (in minutes) taken
between 40% decay and 83% dm_m,nf %H“v’

same radicactive substance is

normally by a paralle] beam of wavelength
Sx10° ch. The distance of the first dark (1) 30 2} 43 .~ 3 R{ ) ';!7& f
band of the difffaction pattern frem the ’ ‘1[3 = [eD
centre of the screen |a b Vit @"‘_3 360 {415 ﬁ £ =1kt
(1) 025 cm a8, For CE transistor amplifier, the audio signal |
}‘ =¥ :E‘ _F"L_""' voltage across the collector reaistance n!'i'liﬂul- -
{2) 020 cm 64 T ¥R is 4 V. If the current amplification factor of
{3 015 _r ~1the transistor is 100 and the base resistance .
ok -"'%EEEI m 1k, then the input signal velta (e
[4) 010 em 5 == g s
Pi X h 20 mV 2) 30 mV [ oo
Electrons of mass m  with de-Broglie 3 15 mV {4 10 mV =
wavelength A fall on the target in an X-ray ey FG‘;}-"“

fube. The cutoff wavelength |Ag) of the
emitted X-ray is

36. The given circuit has two ideal diwodes

—
b

1 d conneoted as shown in the figure below. The
3 _2h = l.-lﬁ"" current flowing t]m:ughlhnrr.adatann: R’
* " me T }T FﬁL will by 3f  fe O 1’
ot = 2410 LI':- 2.
am?c®a? | #Oz20 =2 am}
.‘_m ';"‘I:I £ [ EH,]CF.UF- D W
% .-__...T f ‘.l'.F_.",_' /i F] ] D:
ae PAAH TS 2O, W 10V g
Drre h hoa= ey = Ry 3208
i s ers =y
i, =_3
32. Photons w ergy 5 eV are incident 4 : =
on n camo#f:ﬁ]: a photoelectric cell. The (1) iE'ﬂ' ' — [2) 143 A -l H+t
maximum encrgy of emitted photoelectrons 3) 313 A 2.5 A S =\t
is 2 ¢V. When photons of energy 6 eV are )’( Wy = 0= - 1en)/

incident C, mo photoelectrons will reach | 37, What is the sutput ¥ in the ﬁ:-ll:-wmg circuit,

the anodd“A, if the sto pc-h:r-ﬂﬂﬂfﬂ & whmlzumnhreelnpuuﬂ.ﬂ,cmﬂm

relative 0 Cis o - * =i+ VE2)T 0 and then 12 b= 4

(1) +4V Bl :j@_c_\_..

P —6-1 -
@ -1V~ |0 - & o lea | NAND ! L
-av I N (1) 0,0 1,0
@ +3v = 2.XN R I e T
b EL-L QPeged = .L_‘ i
JMD/E4 - = P.T.O.
==dlpagsi B0 -
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Lﬁa.ﬁimkh constant (k). speed of light in
_— wvacuum (c] and Newton's gravitational
constant (&) are three fundamental
constants. Which of the following
| combinations of these has the dimension of
,,u,.:! length?
7 e m @
I ? ) T VG
2 ) o 5 @ YiS
qtN'"" l,lha.rz T
2 Gd‘hi Two cars F and {0 start from a point al the
same time in a straight Hre and their
positions are represented by xp(f] = at +bt*

and xglt) - - 12, At what time do the cars
have the same veloeity?

0. 1n

the given figure, a=15 m/s® represents
e total acceleration of a particle moving in

clockwise direction in a circle of radius
R=25m at & given instant of timg. The

speed of the particle is},‘hﬁ}r* 1.”‘;1}

=
LET_E E_ *T7%

{1y 50 m/f=a 2] 57 m/a
(3) 62 m/fs [4} 45 m/s
A rigid ball of mass m strikes a rigid wall at
0" and gets reflected withoul loss of speed
as shown in the figure below. The value of
impulse imparted by the wall on the ball

41.

will be _ ¢m, L=l
S WL O
— = =2 hmrl
L= %pa a o (st o
e
¥ ﬁ-..} h i = = 1._11-
-& grﬁ__m.,?— — >
L 1) 2mV i2) '_';.‘f E:—":":
E+
M 3y =X ‘/ﬁ]/m'l-’ P
3 K E
JMD/E4 L= dimie
nl femg s JdwR
w203 e 2
T~ 2 (2K, JZ ) 2

}(11-.1

= "Es ¥ mF ¥
L s = pmt

A& bullet of mass 10 g moving haorizontally
with a velocity of 400 m = 1 gtrikes a wooden
block of mass 2 kg which is suspended by a
light inextensible string of length 5 m. As &
result, the centre of gravity of the block is
found to rise a vertical distance of 10 cm.
The speed of the bullet after it emerges ot
horizontally from the block will be

(1) 80 ms 3‘2‘3 if
2) 120 ma™ = S0 ¥
i v J%ﬁ
o A\ ®

n W
[4) 100 ms

= 5 o -':.-' d.\'_}.\-

P o
. Two fdentical balls A and § having velocities

of 0:5 m/s and -0-3 m/s respectively collide
elastically in cne dimension, The velocities of

Hand A after the collision respectively will be
e _—— — e e —
J¥ 05 mfs and 03 m/s

(2) -0-3 m/s and 05 m/gp '%—n Nk

[3) 03 m/s and 5 mjs Lo rET_;“

(@) ~05 m/s and 03 m/s((2 " L i
i

—44, A particle moves from a point (-2 +5)) to

{4]+3k) when a force of [4i+3) N is
applied. How much wor has been dpne by
the, force? T - i

g 59 ¥ =0

paf +TE i of

(3 2.4 Lafe=1iE

@ 83 a7 gy

. Two rotating bodies A and B of masees m

and 2m with “mements of inertia I, and
Igllg=1,) have equal kinetic energy of
rotation. If L, and Lp be their angular
momenta respectively, then

“.b L-_Iq ‘ELE

J2 L= Loy

3) Ly>Lg

L
) La=—
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{3) deoxyribonuclease t—
{4) lysozyme 1“"}’)__ ri

G‘;Jﬂch:t the mismatch,

j,.-"’

Large central vacuoles—Animal cells™

(2) Protists—Eukaryotes «
i3} Methanogens—Prokaryotes

A=

= 3

—

20

Al=

A .;ig‘ﬂ iﬁqﬁ"{

few drops of sap were coliecfed by cutting
across a plant stem by a suitable methad,
The sap was tested chemically, Which one of

fhe fallowing test results indicafes that it s
phioem sap? - £ "",_1-)
(1} Alkaline,

(2) Low refractive index | __ F( Vi 7 )
3} Absen I

(3) Absence o nuga;-fvl': ‘H*f

(4} Acidic Az =

You are given a tssue withy its PUT'EILEEIE

differentintion in an artificial culture. Which
of the following pairs of hormenes would you

5a.

(4} Gas vacuoles—Oreen bacteria = »3 add to the medium to gecure shoots HE_-:]!
48, S.-u:bn:i the wrong statement. A2 = -}"'. :"[I] Auxin and cytokinim ~18&
/H‘T 'E":_}arpd fimbrias are mainly invabeed in 2] Auxin and abscisic acid :3“_?—
maotility of bacterial cells?, (3] Gibbercllin and abscisic acid Wy |
(2} Cyanobacteria lack flagellated cells. (4] IAA and gibberelling e
(3} Mycoplasmea a wall-leas Phytochrome is a
miCToOTgATISMm. (1) glycoprotein Vi + RS~ 2A|
(4] Bacterial cell wall is made up of (2) lipoprotein =g
peptidoglyeans,/ Tﬂ?jjl Ml =2 (3 chromoprotein VA Y — T—2 —wiz
49, A cell organelle containing  hydrolytic 14 flavoprotein Va4 Y- =2
ENZYMLE is "Maz=Y Which is essential for the growth of root tip?
(1} microsome V=3 ka3 1) Fe 2| Ca
S - | ! BC i VR sy
(2} ribosome = '( ﬁll-n Rt (3] Mn 4 Zn Vet _ )
(3}  mesosome The . _ ! E
= 4 T ’ process which makes major difference™
j‘il/l}'aumme ;L— =£ -r-rl— 'l%{_)ﬁ between Cy and C, plants is
§0. During ccll growth, DNA thesis takes [l Fen o y
- v Lt H
place in £ - photorespimtion y .
- TL_ 3] respimtion V& 2K 1 —ZRL=up
8 G L6 1%] glycolysis VL 2+ T=Y=VA
7. Which one of the following statemeants is not
H M s corTect? VA € =UP VIHI=VA
g phase ,;{‘}"i] ﬁ:u Mieroscopic, motile asexual reprodugtive
— i ™ structures are called zoospores .
.Whlv:h of the following biomolecules i h—ﬁ In potats, banana and ginger, the ;_F
common to respiration-mediatecd hrca}:duwn‘ plantlets arise Trom rnodes
of fats, carbohydrates and proteins? " present in the modified stem
(1) Fructose 1,6- blnphuaphﬂm _r — (3] Water hyacinth, growing in the standing
(2] Pyruvic mq,['!.”__ water, drains oxygen from water that
qr- W -,al s ¥ leads to the death of fishes.
| JA1 Acetyl CoA W’ (4] Offspring produced by the asexual
| [4) Glucose-6-phosphate reproduction are called clnnev/m“
| JMD/E4 (= bés 7 [ PTO.
' § = Px 280 S B0

Y= Pr it

'}oi

- _'i_ :—'-l"Hl:}'_r

x| -
jal

r?



B8. Which one of the fellowing generntes new
genetic combinations leading to variation?

i1 Pnrﬂ'mnug-enuiu.h
Sexual reproduction

(3} Nuecellar puI}fl:th‘j.-'Dnjl‘:’L

(4} Vegetative reproductiong™

59. Maich Column—] with Column—I] and

select the correct option using the codes

given below ;

Columin-—I
a. Pistils fuse

Column—II
Gametogenesis

Pistillate

Hyphae of higher
Ascomycetes

u|  Byncarpous

iv] Dikaryotie

by
[
(i)
{i}
(4 fiv) i)

d
(i)
[iii}

a
(1) (i)
2}

A G

c
(i)
fiv)
(vl ()
(i) ]
60. In majority of angiosperms
(1) there are numerous antipodaf 2ells
reduction  division occura  in the

m mother cells
® aGmap e

ntral cell is present in the
embryo sac O
4] @hﬂ A filiform Apparatusod

Pollination in water hyacinth and water lily is
] t about

z?uﬂ-x by the agency of
insects or wing

[2) birds

(3} bats

(4) water

The ovule of an an
equivalent to

(1) megasporophyl} =

2] megaspore motTier cell

gioaperm is technically

(3} megaspore,.
" g
JMD/E4 LMLE"T‘*'I . Ty

6F.

@

9 1 e i g ()

421 235 rRNA

Taylor conducted the ex
BEMICOnServative mode
replication an

Victa faba
(2] Drosophila melanogasier
(3 E. coif 4
¥ Vines roseg:

periments to prove
of chromosome

oy (’*1*;\?
The mechanism thae CAUBEE & gene o move
from one linkage Eroup to another is called
(1) duplication . -
translocation -
[3) crossing-gver -
4} inversion -

T e
e equivalent of nl::iﬁu::turul gene is
cistron -
(2] eperon
(3] recon

4] muton

(1) produced due to &-pollination among
unrelated planta?

) near homozypous and produces olfspring

of its own kind "
@nﬁ}?‘)in it

(3} always homoaygous
Eenetic constitubon™.
(4} one that is able to breed on its own-

Which of the fellowing rRNAs acts -1
ENA as well gg ribozyme in
bacteria?|

B (¥

(3] 58S rRNA |
%) 58 rRNA

Stimed-tank bioreactors have been designed

for E"‘"\
of prmsenvatives 1o the product

{1 S rRNA

addition
M’Eﬂﬁh‘iﬁf}' of oxvgen throughout the
proces 3

3l ensuring\ anaerobic conditions in the

culture
%) purification of producr ™,

-

M= L
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69, A forcign DMNA and plasmid cut by the same
restriction endonucleass can be joined to

form a rc;:nmh:nm_m using
(1) Tog polymerase N - - b _.F-P__:
(2} polymerase I

Vp‘p‘f Hgase —
4
4] Eco RI ar
Fas
@ i -nd;ghcqt ir:rl]nm"r';E ie ot a fnru[:run-ent nf
downstream processing® «

r-.'l
(1) Purification ‘“/"E: s

;g-!E.’D_

AR tH ez 42
The primary producers of the deepg- m!
rothiermal

hydro vent ecosvsiem are

J}]’ t‘htl‘l:.l;}ﬂ_'p'nﬂil:ll.t bacteria 2{*’-[ bt :Q
— §

[2) blue-green algas keq =

{3) coral reefs ° { E-.H{ g AR .H'j

Nttt e
= PO

correct for

(4) green algae -~ =
&

Which of the following is

r-selected specles? I'r““
(1} Large number of progeny with large size .

S B 3) Small number of with smallgize - | S
(2) Preservation,” "“f‘;!...-ﬁ T 2 number of progeny 8 vt
3 Sma ber of my with large stz
Jafﬁxpreasinn" o — Tlu J (3} Small number of progeny with large
(4 Separatio 20 :4' Large .ilmlﬂl-'ﬂfw‘?ny Tth small size
= i 6. I sign is E.l-m beneficial interaction,
m Wnlgg:h of ]gll'n:' I’:ﬂlu:r:ﬂ:g restriction enzymes " sign to detrimental and 0 sign to neutral
P Ay _g‘_"'”_.” interaction, then T]ll: population interaction
1} Eco BV™ represented by %' ' refers lo
(2) Xho @QE”E»H””H (2 b (1} amensalism ( — ) = /[.l s
; L
(3) Hind I P £ _! 12) cumm:naahm&i—l'u:l o .ar"j E_L!‘P' o
(4) Sall Yoo | 2R hg M A parasitisnlt, ) e
4} mutualism 't""'}'_'_} ﬁ . g.-- ;t‘.
T2, Whach kind nl'ihllrap'_l.r WAS EIVen in 19*91] tex @ fl H J‘L
foursyear-obd. girl adenosine deaminase : " p—
Which of the fallo iz earrectly matched?
(ADA) deficiency? g s eyt ke | wJF s
i1) ﬂhcmﬂthuﬂpv Eﬂ‘”"'?-ﬂl‘/’k-"- (1} Age pyramid—Bio e :L':vu- i
2) Immunotherapy .Jﬂanr'thmfum hysterophoris—Threat =4
i3] Radiation therapy p :
o le (3 Stratification—Pop
MffEi:ru: therapy 4 ff,'.l _?f'ﬂ

Mt

—d
Elv; 73
T3. How many hot spots of biodi ity in the .
world have been identified till date by
e —

Morman Mycrs?

= k1A G + k2
(1) 25 F2 Py, |
{HG-* L;xfi-‘ i %1

3) 43 klihxs_

4 17 aaa

ly= 2% Cfcwnu;)
JMD/E4 1o 9
R ¥ |
&g Sltra ot

E "'I ’ I
78. Red List ‘Pontains data or Info !EFnun

(4 Atrtmhj'ma—m:un 1

(1] plants  whoss products are in
international trade i
threatened species :f_l“"'

(3] marine vertebrates only [

(4] all economically impm'tam ptnmts
(2= E

Jﬁi’ et

g +
TZRSC kit ez <kt
= . =

—
—




79, Which one of the following is wrong for
fungi?

All m‘rn?" possess a purely cellulosic cell

wall,
{2) They are hl:l:cml'.m]:rhil:,vl
{3) They are both
“multicellular. v
(4) They are eukaryotics’
80, Meitbanopens belong lo
| Archacbacteria
(2] Dinoflagelates
(3] Slime moulds
[4) Eubacteria

unicellular  and

B1. Select the wrong statement.

(1) Diatomaceous earth’ is, formed by the
cell walls of diamm?-v}‘

[2F Diatnmav:,l;e chiel producers in the

OCEAMmS.
(3) Diatoms are micrescopic and float

ively in water. "
The walls of diatoms are ecasily
destructible,

The label of a herbarium shee! does not
earry information on

(1) name of collector o
(2) local names v/

height of the plant -
(4] date of collection

Conifers are adapted to folerate extreme

@ mﬁ:nﬂm:uWﬁ because of
(1) superficial stohata s
vﬂf thick cuticle
(3] presence of vessels
[4] broad hardy "“"""ﬁ"\
Bd4. Which one of the following statements i
? &b

Algin is obtained from red .
carrageenan from brown alga

{2] Agar-agar ilyﬂ?l:ﬂ.‘in:d from Gelidium and
Cracilario.

13 Lam:‘ru;rm and Sgrgossum are used as
oo, «

(4] Algac increase the level of dissolved
oxygen in the m iate environment,

JMD fE4

and

85. The term 'polyadelphous’ is related to
‘/ﬂ/:l androecium

(2] corolla
(3] calyx
(4} pynoecium

How  many plants ,ama m%
Sesbfita, Salvia, Al Ak, muskird,
groundnut, radish, gram mmip have
stamens with__di lengths ) in - their
MNowers?

(1] Four

(2] Five

i3) Six

{# Three

87. Radial symmetry is found in the flowers of
(1) Trifolium
i2) Fiar::m‘?{..
{3)  Cassigl |
Hrassioa
B8. Frec-central placentation is found in
(1) Argemone 1
(2) Brassica

£89. Cortex is the region found bebween
(1} pericycle and endodermis ol
[2) endodermis and pithel
(3] endodermis and vascular bundie—
Jﬁ‘(zpiﬂm'ml: and stele ~

The balloon-shaped structures called tyloses
(1) characterize the sapwood

are extensions of xylem parenchyma
cells into vessels

{3) are linked to the ascent of sap through
' xvlem vessels

[4) originate in the lumen of vessels

10
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91. Maich the stages of meiosis in Column—TI to
their characteristic features in Column—I1
and salect the correct option using the codes

96. Name the ion responsible for unmasking of

active aites for myesin for cross-bridge
activity during muscle contraction.

given below : L?lw {1} Magnesium {2} Sodium
Colnmn—1] Column—I1 (3] Potazsium Calcium
* o :m:amuhﬂnm «/ Name the blood cells, whose reduction in
b, Metapha Terminalization of number can “E““EE%%E@ » leading
PP A to excessive loss of m the body.
c. Diakinesi Crossing-over takes place (1) Leucocytes:
d. Zvgote Chromosomes align at (2) Neutrophil
equatorial plate dﬂ’l Thrombocyies
Codes : (3) Erythrocytes
] B . = d 98, Name a peptide hormone which acts matnly
1 i k ii iii on hepatocytes, adipocytes afid ArICes
:‘2: 1Eii]} H:]] :mj; 'Eila cellular glucose uptake amd \filization.
1) Gl i
@ ) G @ G ) “mmwﬁwn“
AR S (3) Gastrin Insulin gt e
. 3 949, ODsteoporosis, an  age-related disease of
ich hormones do stimulate the
production  of panerealic julee  and skeletal system, may occur due to
hicarbonate? (1) high concentration of Ca'' and Na*
(1) insulin decreased level of estrogen
Cholecystokinin and secretin. i3} mccumulation of urke acid leading to
(3) Insulin and glucagord®™ ’:}: inflammation of joints
4] Angi (4] immune disorder affecting neuro-
03 fﬂ: ek S ¢r1ﬁ¢?hn — muscular junction leading to fnngun
+ - Pﬂ.ﬂ‘l-ﬂ Pressure o e R )
of the lungs is] 04 wwii us, I { 100. Serum differs from blood ing . mh”}
more than that in |11.¢ bloo rmj_ (1 king albumins rgbﬂ“w
{2) Jess than that in the bloodoA. it 2 J lacking clotting faciors

{3 less than that of carbon dioxide
(4] equal to that in the biloode!

@ Choose the ecorreet statement,

(1] Meissner's, corpuscles are

rmpmr:?d«..

(2] Photoreceptors in the human eye are
depolarized during darkness and become
hyperpolarized in response to the light
stimulus.

(2} Receptore do netl produce graded
potentials,

(4] Nociceptors respond to changes ing4
F edipaie

95. Ve ig caused due to

[ hypersecretion of thyroid gland
{2) hyposecretion of adrenal gland

(4] hypersecretion of adrenal gland

=

= @ome air always remaing in the

(3} lacking antibodies
[* lacking globulins
3 Lungs do not collapsc between breaths and

hich
can never be expelled becauss

{1} there iz a negative intrapleural pressure
pulling at the lung walls
2] there is a positive intrapleural pressure
(3] pressure in the lungs is higher than the
atmospheric pressure ,
(4] there is a negative préaumre in the lungs
The posterior pituitary gland is neot a ‘true’
o rine gland because
it only stores and relesses hormones
[2) it is under the regulation of hypo-
thalamus
[3) it secretes ena'_l.rmeu:n{,‘\

] h?pnmm;_l_iﬂn of thyroid gland (4) it is th a du
= 0L _ k. T — = | T J
. JMD/E4 J_{__ ( T"f (2 7-%0) qﬂﬁ 7 'RTL.
‘ET..:]' (i‘T+?]j T \ B GT?)
= ! L‘_T._I-r_‘l_} :
IILE [,li - T [ {'1'+T§—T



= \ lt--f-_._T
The part of nephron involved in

reabsorption of sodium is
T proximal convoluted tubule
i2) Bowman's capsule
i3) AAescending imb of Henle's loop
J.ﬂ/giata] convaluted tubule
104. Which of the following is
releasing IUD? -2
(1) Multiload 375¢
{2) Lippes loop~
3] Cu7
[#] LNG-20

&

] Mo sperm ocours in cpididymis¥—
(2] Vasa deferentia is cut and tied
(3} lrrewersible sterility.”
{4} Mo sperm occurs in seminal fluid

106. Embryo with more than 16 blastomeres

formed due to in witro fertilization
transferred imto
(1) falloptan tube
2} fimbriae
(3)-cervix
] uterus

' Which of the following depicts the correct

pathway of transport of sperms?
i1

12)
3)

ductiles — Vas deferens

ductules -+ Epididymis

eferens — Epididymis
Rete ftestizs -+ Efferent ductules
Epididymias —+ Vas deferens

108. Match Column—I with Column—II

given below |
Column—I Column—II
a. Mons pubi Embryo formation
b, Antruim- Bperm
¢, Trophectode Female external
g . penitalis )
d. Nebsen vl Graafian follicle
Codes :
- 1 =] c o
_,4-1{ (mi) i) (il i)
(2) ) @ () )
@ W v () ()
(4) @@ (i) () (1)

JMD ES

O ITAIG-
i

Which of the following mén%l regarding
clomy? o

Hete testis —+ Epididymis — Efferent
'Rete testis — Vas deferens —» Efferent

Efferent ductules —+ Rete testis — Vas

and
select the correct option using the codes

.\

is

_'.

12

109. Several hormoncs

110,

111.

11%.

e

™
e hiCG, hP ,)Ieﬂ:ngen,
by

progesicrons are p
J}ﬁ]:nmtu ){CY
(2} fallopian tube —
{3) pituitary

[4) owvary

If & eolour-blind man marries a woman who
is_homezygous for normal colour vision, the
probability of their 800 Bemmg colour-bhind is

{1} 05 (2) /075
o

3 1

Genetic drift operates in

(1} large isolated population

(2} non-reproductive population

{3) slow reproductive population
small isolated population

In Hardy-Weinberg equation, the frequency
of heterpgvgons individual is represented by

M 2pg @ pa [ Fepvta’s
3 q° [4) p*

The chronclogical erder of human evolution
from early to the recent is

Ramapithecus — Australopithecus -+
Haoma habilis -» Homo ereclus

|2) Ramapithecus — Home Rililis -
Australopithecus — Homo ereciiis

i3) Australopithecus, — Home habilis —
Ramapithecus oo erectus

{4 Australopithecus Ramapitherus —+
Hormo habilis < Hoimo erectus
Which of the [ollowing is the ecorrect
gequence of events in the in of lfe?
1. Formation of protobion
1. Synthesis of organic mm‘mnmr{ﬂ

1l Synthesis of organic polymergZz")

IV, Formation of DNA d genetic systems

(1) L W1, I, v
ﬁdi. i, 1, v

m, m, v, 1
(4) 1, W, W, W

|



115. A molecule that can act as a genetic material
must fulfill the traits given below, except

(1] it should be able |

] it should I:-ef"unsta
chemically "

(3] it should provide the scope for slow
changes that are reqguoired for evolution

(4] it should be able to express ttself jn the
form of ‘Mendelian characters'

b}{)atmttumlb' and

(L36. DNA-dependent RNA polymerase catalyzes
transcription on one strand of the DNA
which iz called the

(1) coding strandil
i2) alpha strand
(3} antistrand

J}(tempin.h: strand

117, In ific hybridization is the mating of
\H'i: two different related species

{2) superior males and females of different
breeda—.

[3) more closely related individuals within
same breed for 4-6 generationg.d

animala within same breed without
having COMMON ancestons.—

4

Which of the following is correct regarding
causative agent HIV?

Al i
HIV iz enveloped virus that contains two
identical molecules of single-stranded
RNA and two .molecules of reverse
transcriptase
HIV is unenveloped
HIV does not escape but attacks the
acquired immune responsec

HIV is enveloped wvirus contsining one
molecule of single-stranded ENA and one
molecule of reverse transcriptase™

(2
31

4

@ Among the following edible fishes, which
one is A marine fish having rich source of
omega-3 fatty acids?

A - e
fale its replica .-

&

120. Maich Celumn—I with Celumn—II and
sclect the correct option using the codes

given below |
Column—TI Columnp—I1
a. Citric aci Trichoderm
b. Cyelosparin Clostridim
C, Stati | Aspergills
d. Butyric aci } Morosos
Codes :
C d
A i m (v i)
21 f v i) [t}
(3) fmi} {iv) ft) fi]
e, (4] D) (1) my  [iv)
121,

inchemical Qxygen Demand (BOD) ma@
be a good index for pollution for water bo

receiving effluents from "] = &Y
(1}, dairy industry«" 2[=To e

J,E( petroleum industry
(3 sugar industry."

lﬁ To =T
(4] domestic ﬂew&gz...-'" =

122. The principle of competitive exclusion was

stated b

wt:;ﬂ-auu -i A Lo = H
1] MacArthur G‘r-ru),,f s
(3] Verhulst and Pearl 'Th‘—‘al 27 -_Tu
(4] C. Darwin

Which of the fallowing L5 Iois70

home to the famous musk deer or hELn.gaJJ?

{1} Bandhavgarh MNational Park, Madhya
Pradesh Tu-t—’lTn &1

(2] Eaglenest Wildlife Sanctuary, Amna:hal

‘ﬁ(hdﬁh H "r'-\ = :r

Dachigam National Park, Jammu &

Kashmir Tw=
{"H HKeitul Lﬂ.mjﬂ.ﬂ National Park LTI PLF

124. A lake which is rich in ‘ =
result in o=
{1] drving of the lake due to algal bloomet. —

(2] imereased po tion of fish due to lots of
utrients g™ =~ _
mortality of fish due to lack of axygen, .~
{4} incremsed population of aguatic
organisms due to mineralss~.

J (JJ En::‘ m:ul DET concentration in aguatic
(1} Mangur - in shall scour in rr
: g Lt . . Aty My
oA aa T TR
(4) Mystus jﬂ;j ( t= 1!«) 14) ::ﬁrtup]ﬁlrr.nn et Fe®w
MD/E4 gi D !—zh) gﬂﬁgb 1 g_p%e 4w/
2 (¥ _2 = o
— Mee< i = ==
ECTAS e Serey



T T
Which of the- ing sets of diseases
caused by bacte = e

c1e € v DECH

l{ 1523 Oxidative phosphorylation is
{1) oxidation of phosphate in ATP

(1) Typho [2) addition of phosphate group to A
i2] Tetanus an m formation of ATP by energy released from
{3] Hclfes and influenza electrons _ removed  during (substrate
Cholera and tetanus oxidation N
127. Match Column—] with Column—Il for (#) formation of ATP by (ransfer of
housefly classification and select the correct phosphate group from a substrale
option using the codes given below : -, to ADPA
Column—I Column—Il {ﬁﬁ;ﬂj Which of the following Is the likely to ke
Diptera =" involved in etabilizing the -dimensional
Arthropoda folding of most protrins:
Muscidae (17 Electrostatic interactionw’
sectn (2] Hwdrophobic interaction.”
(31 (Ester bonds
b d (4) Hydrogen bonds .
i) li?il i h.'i] i 134. Which of the following describes the giver
L . graph eorrectly?
2) (v} fm) ) {3
3) v [u) i)
AN i) @ (v )
128. C se the correct statement.

129,

(3) Aand Be
In male cockroaches, sperms are

All cyclostomes do not possess jaws and

ired ﬁ.na..,/s

2 .Hll_; reptiles
“Tieart

{3) All Pisces have gilla covered by an
opercubant;

4 All mammals are m'lpnruuﬁﬂ

Study the four statements [A-D) given below

and select the two correct ones out of them :

have a three-chambered

A. Definition of hdafﬁ;glm]' species was given
by Ernsat Mayr.

B. Photoperiod does not affect reproduction
in plants’

C. Binomial nomenclature system was
given by R, H. Whittakerg/~

0. In unicellular organisms, re uction is

synonymous with growth.
The two correct statements are
1) Cand O Aand D

(#. B and C

mn
which part of the reproductive syste
(1) Mushroom glands
[2}) Testes
(3)-Vas deferens

Seminal vesicles

Potential Energy —»

(2)

(2)

14

Reocion —»

Exothermic reaction with energy A &
pmacny enzyme and B in absence o

ETIZYITY
Endothermic reaction with energy A 0

u‘bs.emrﬂg‘f enzyme and B in prescnce ©
EnZymE

Exothermic reaction with energy A @
absence of enzyme and B in presence ¢
ETLEVITIE T

Endothermic reaction with energy A b
presence of enzyme and 8 in absence ¢

enzyn‘rr'ﬁ"’--

{@When cell has stalled DNA replication fork
which checkpoint should be ppedominagt!

activated?

131. Smooth muscies are M
i1} wlﬁ‘htnr'_l.l, multinucleate, eylindrical (1) Gaf
(2) involuntary, cylindrical, striated 2 M
{3). voltintary, spindie-shaped, uninucleate gi'(‘ﬂ‘“h Gy /M and M
) involuntary, fusiform, non-striated ﬂil"sr,_\,“11 - '-'-_;-I-a_j—l - El%
JMD fE4 14
oY o <= \[/ Lengto
i
P = s
"",FTU k = Jor e AT
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136. Which one of the fallowing iz ineorrect for
tdeal solation? n

_'F-'-__._-
(1) AL, =0

e emwer ™ qE T2

142. Zimc can be coated on iron to produce
galvanized iron but the reverse is not
possible. It is because

~148

. (1] sinc has lower melting t than ron
(2] AF = Fupy = Frateulated by Raoult's law = 06 L7 _ ;
AG - =8 {2] minc has lower negative electrode
mix tential than iren
4] AHgy =0 v Jd{:;: has higher negative electrode

The solubility of AgCl(s) with solubility
product =63 107!'? jn 0-1 M NaCl solution

would be Fkif—{ —Fj ﬂ'ﬂﬁfﬂ i
(1) 1-6x 107 M > 5
A =
2) 16x107 M 2 r :E‘Ej
(3] =zero % g - Lt
) 1261075 M N T
~ " DMK

Suppess the elements X and Y combine to
form two compounds XY, and X,¥;. When

0-1 mole of X¥, weighs 10 g and 0-05 mole

of ¥,Y, weighe 9 g, the atomic weights of

X and ¥ are
(1] &0, 40 (2] 20, 30
(3) 20, 20 (4] 40, 30

139, The number of electrons delivered at the
cathode during electrolysis by a current of
1 ampere in 60 seconds is [charge ond
electron = 1-60 % 10717 )

(1) 6x10% 42 3.75x10%

[3) 748x10*  4) 6x10%

140. Boricacid is an acid because its molecule
(1} ghves up a p-ml.nnﬂ"‘
‘g-l/anﬂ:pts OH™ from water releasing proton
LY

potential than iron

(4] zinc is_lighter than uﬁﬂ.
Can
143, The uptﬂiijg f slaked lime Fn waler is
¥ 2 raehls

(1] quicklimeca/>

‘Eﬁ‘/n-ﬁlk of Hme

{3 agueous solution of slaked lime-
[ limmatcrﬂﬂff‘{ ) :}_..

144, The hybridizations of atemic orbitals of
nitrogen in NO3, NO3 and NH respectively
e 2y 3 H=V HM -t A

et T el e

_—

(1) gp?, sp® and sp
o Mg £ =42
sp, sp” and sp i _..,\II
i3 apz. sp and 51::-3 @
4 sp, sp® and sp® m‘;_ﬂfi*'!"‘] =6 :{J
2
@. Which of the following fluoro-compounds EPL
most likely to behave as a Lewis hases B
(1) PFy (2) CFq4
3] 8iF, (4] BF4

Which of the following pairs of ioms is
isoclectronic and isostructural?

1 cio, coX 1 s03-Ao;
4 cio;, so?-

A P
[4) €03, NO3

3] combines with proton from  water mn 3
muolecule 147. In context with beryilium, which one of 'h"m T
. {4) contains replaceable H® ion following statements is inoerreat? e F
(1} It forms Be,C. v_"‘.‘-l\ i iy
141. AIF; is soluble in HF only in presence of KF.
v il b g @) Ns sas rarely hydrolyze, AT
(1) KylAIF| (2) AlH, o v (3} :;t:h.-mhie:.:dt iz electron-deficient and
(3) KJAIF;H] (4) K3[AIF3H;] (4) It is rendered passive by nitric acid.
| e ?s 237 ¢
-E.JMDIE# M =pne 15 T ,ﬂﬁ . | PT.O.
1 =@ = Ft = 1%60 = L0 25 gy l?
‘M am g TR € Ve oxyats g i
?:2" =1, __MP
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148, Hot concentrated sulphurc acid s a
moderately strong oxbdizing agent. Which of
the following reactions does not show
oxidizing behaviour?

(1] 38 +2H,80, — sﬂ.su:r2 + IH,0
(2 €+2m,80, kb, + 250, ». 2H,0
aFg-+ H,S0, —réaﬁﬁ ~+ aHF
[#) Cu +2H,50, — CuS0, + S0y + 2H,0
149, Which of the following pairs of d-orbitals will
have electron density tﬂuni the axcs?
(1) bz, ﬂ'!,-:
Az d.z .2
3) dyys d a_ 2
R} 'ﬁt:i: d.‘m
150. The correct geometry and hybridization for
XeF, are
(1} trigonal bipyramidal, sptd
(2) planar triangle, sp’d”
_’Fﬂ/ square planar, sp’d®
4] octahedral, sp~d*
« Among the following, which one is a wrong
statement?
(1} pm-dn bonds are present in S0..
[2} E‘:F.‘I and EH.. have same Hh‘ﬂpﬁn
(3} 13 has bent geometry.
(4) PHs and BiClg do not exist.
152, The eorrect increasing order of trans-effect
of the following species is
(1) CN~ > CgHz > Br~ > NH,
{2) Br- > CN™
(3) CHN > Br~
[4) NHy = CN™

> NH; > CgHg
> CgHz > NHy

> Br™ = CgHj

153. Which one of the following statements

related to lanthanons is incorrect?

(1) The basicity decreases as the jonic
radius decreases from Pr to Lu.

(2] Al the lanthanons mre much more
reacine than aluminmm.

{3) Ce(+4) solutions are widely used as
axidizing agent in volumetric analysis.
4] Europium shows +2 oxidation state,

154, Jahn-Teller effect iz not observed in high
spin complexes of

(1) 4" @ a*
(3 a” (4 d7

155. Which of the following can be used as
the halide component for ‘Friedel-Crafts
reaction

0,

{1} Hmmu-b:ﬂﬁliit e (A
[2) AChloroethens [ {-h‘
\((J/:vmp-mpyl chloride ' Gt Pk Tl
(4] Chlorobenzene, ...h$
In which of the following molecules,
AlOMS are COPIATATY
e ———
/ '
I c=c,<c
CHy" ON

157. Which one aof the following structures
represents nylon 6,6 p-:ﬂ:.'m:r?

# | 2
(1) (f”:‘*!:{r*'E

NH; MH; fea
E
e Ny
2) g/j’(} Eg mw

@

__N—CHglg—NH, }I

"




,_--""'_""--.\I
:‘EH. iln pyrrobe
4__a.

=
£y 72
i

I]
H

the electron density is maximum on

3 and 4
(2) 2 and 4
(3) 2and 5

{4 2 and 3

Which of the following compounds shall not

‘produce propene by reaction with HBr
followed by elimination or direct only
elimination reaction?

(1 H!E—Mﬁ Uh —cH =0,
4 Sie=c=0

(k]| HJE.-.-E.E—C]'hHJ‘
Cay

(41 Hz‘?\-;:—f’h + iy — Et!il-—fH,

Hy

160. Which one of the following nitro-epmpounds
does not react \lnﬂ?. nitrous acid?’

(1) Haﬂ\;FH/EE\m;J* M NCE_F

HsC
Hal
2) H_,D%)—.HD'}
HsC

a
(3 HC MO,

2
(4) HICH‘E, /E\"Ua
X

JMD/E4

17

161. The central dogma of molecular genetics

162.

163.

states that the genstic information Jows
{rom

- -

{1} DNA — Carbohydrates — Proteins

Jﬂ/ﬂﬂh —+ RNA — Prnlﬂl:m

(3] DNA — RNA - Carbohydrates

{3} Amino acids — Proteins — DNA

The earrect corresponding order of nemes aof
four aldoses with configuration given below

CHO CHO CHO CHO
H=—=0H HO——H [Ppo——H H——0Il
H——0H H——0H HO——H HO——H

CHLOH CHOH CH,0H CHyDH
regpectively, is
(1] D-threoss, D-ervthrose, L-threoes,

L-erythrose
{2} leerythrose, L-threose, D-erythrose,

D-threose
(3] D-erythrose, D-threose, L-erythrose,

L-threoss
4} l-erythrose, L-threose, L-erythrose,

D-threose
In the given reaction

. —HF . p
0*C
the product P is
{1} (2]
F
i3 4] |

[ PT.O.



: ]
F . _;""-""';

™ L f-"l'_
164, A given nitrogen-containing aromatic | 167. Which among the given mnlccuﬁn. can
compound A reacts with Sn/HCl, followed exhibit tautomerism?
by HNO; to give an unstable compound B
B on treatment with phenol, forms a
beautiful coloured compound C with the
malecular formula ) H,; (N ;0. The structure Ph
of compound A is
W CN
@’ i2) Cr (1) Both 1 and I
CONHgy NHy |2} Both | and II
o
{3} Both I and 1N
165. Consider the renction " Woy
EHEEHEEHQ Br + HaCM = {:H;]{:HEEHEIEH + MaBr
This reaction sAll be the fastest In ‘168, e egorreet order of strengths of the

carboxylic ncidsa
-_jl_ = L

(i1 smetiwal [vd 'T‘ COOH COoOH CO0H
{
i m

(2} N N°- dmi:ﬂi}r].ﬁ: [ ﬂJHF] 1
§h+
(3] waler Llﬂ I)I'L 13

—— 13 10 =101 = |
{4) ethanol "'-"1+1+th 1%
TN’“{E"') @) 0> 11> 1
= N4 1— 2/
166, The correct structure of the product A 3 N=1>M

formed in the reaction
114] 1 =10 = Il
Hs [gas, 1 atmosphers) .

-

Pd fearbon, ethanol

o Pt . The compound that will reacl most reudﬂ4
s ccada B0 1!?1]—- o = s i & gﬁjﬁfﬂmh |

--}""'E""I '*h.h b= e,
(1) C5H, “’u‘i_ _ CouM gn
(1} Ca H
2 Tyl Cy “1_"

/‘ij\ = &E (5 [3) CoH, CaWe
N - c.H il
,/fﬁ aHg Fjgﬂ' I:._If_{:_HE

1
|

And1)
HJM%IE.“QH‘ _F/[*'!_E-’rﬂ'?’ﬁ'—.r('rﬁ_'z;n = ZAAA2 .J
T2 A0+ =P 2z 0 (Th, |




0} ' &
ek Y : A Cep Y o . e o-on .
i x“’"ﬂHL.zqf“J Ch, Co) e s
- - l—.-
- B £ -
SWhich one of the follow —"I::ﬂ'l'ﬁ'ﬁﬁ'ﬂl'l:li.ll 175. How many ﬂtﬁt[;mnﬁ)‘én fil in Lh or,
shows the presence of / intramolecular which n=3and =17 2pd— xL
" hydrogen bond? A (1) 6 (2),10 ~ 39 __(f;g, !
(1) HCN [3) 14 ) 2 = 2K s
(2} Cellulose = 176. Fora sample of perfect gas when its pressure
(3) Concentrated acetic acid ° 15 changed isothermally from Py to p., the
hange is given by :
(4 Hy0, entropy chang : L3 ,
o, e . i | M-—-‘ﬁ' Lrﬁl‘_— [
171. The molar conductivity of a 0.5 mal fdem" | AS=nRIn )
solution of AgNO; with  electrolytic S B o hacd
conductivity of 5.76 x.jmﬂ_‘-" Scem™!  at 12} AS=nRTIn [i] = '_-lr -
208 K is A e RIS ¥y 2 -1
1} 11.52 4 jmaol , ——
2) 0086 Scm? /mol \Pr
(3] 2&.8 El:mifmul H': 53=?‘IR|I’I[§I
L

4) 288 Sem? fmaol
177, The van't Hoff I'E.C'I!Dr_ﬂ for a dilute Aguesus
172. The decomposition of phosphine (FH3) on solutlon of the al‘.‘mﬂﬁ electralyte  barium

tungsten at low pressure is a first-order hydroxide is  £=$0 » = By 21 oM™
reaction. It is because the i 1 g 2 -
(1} rate i3 inversely proportional to the _‘_;3]"'13 40 £ =
surface coverage 178. The percentage of pyridine (C HoN) that
{2) rate is independent of the surface forms pyridinium ian CHgN"Hl ina 0-10 M
coverage aqueous  pyridine  solution (K,  for
(3) rate of decomposition is very slow CsHsN =1.7 % 107%) is
coverage @ 077% g,
173. The coagulation values in millimoles per litre 3 1.6% Q, x
of the electrolytes used for the comgulation of 4] ﬁ,ﬂmn;j_iTlﬁ
atipTare given below I"E'E .n calcium flubride, having the fluorite
I 515'53-, Il [BaCly) = 0-69, structure, the coordination numbers far
Il O4) =0-22 caleium ion (C4 2" ) and fuaride ion (F~ ] are
The correct order of their cofgula by (1} 6 and & ‘d :llar | T
power is il i gy @ ErEd
. 4
M m=1sm @ msns = i PR
(3) M=>1>mn M I=11>m T ) 4 andd
174. During the clectrolysis of molten sodinm 180, If the E:ﬂj for a given reaction has a negative
chloride, the tume required t“’%ﬂl—'“ value, which of the following gives the
0-10mol of chlorine gas using a of correct relationships for the values of A
3 amperes is . | &9 ]‘1 57 and K, ? g = 88~ v Fout!
{1 110 minutes (1} AGF=0 K. =1
— b e
(2} 220 minutes sl Lf [2) A< Kg>1 M= —th'Qf_F
(3] 330 minutes 3 3 AG'<0 K <1 & 1 ,{:n‘_ﬂ
: ?E{:] B AC*>0 K, <] 'I:CL } ﬁ
(4} 55 minutes &g ) [ ‘f‘-f'
MD/E4 — | —| o 197y ngnéwﬂ_g@.n,

et L = "




